
пример 1
1*cos x + 1*sinx =[выносить нужно V(1^2+1^2)=V2] = 
=V2(cos x*1/V2 + sinx*1/V2)= 
=V2(cos x*sinP/4 + sinx*cosP/4)=V2sin(x+P/4)
пример 2
1*sinx - cosx=[выносить нужно V(1^2+(-1)^2)=V2] =
V2( sinx*1/V2-cos x*1/V2)=V2( sinx*cosP/4-cos x*sinP/4)=V2sin(x-P/4)
пример 3
1*sinx - V3cosx=[выносить нужно V(1^2+(-V3)^2)=2]=
=2(sinx*½-cosx*V3/2 )=2(sinx*cos P/3-cosx*sin P/3)=2(sin(x-P/3))
пример 4
V3*sinx + 1*cosx=[V(1^2+(-V3)^2)=2]=2(V3/2 *sinx+½* cos x)=
=2(cos P/6 *sinx+sin P/6 * cosx)=2(sin(x+P/6))
пример 5
5*sinx + 7*cosx=[V(5^2+7^2)=V74]=V74(sin x *5/V74 + cos x * 7/V74)=
V74(sin x *cost + cos x * sint)=V74*sin(x+t)=V74*sin(x+arcsin(7/V74))

a*sinx+b*cos x=V(a^2+b^2) [a*sinx / V(a^2+b^2)+b*cos x / V(a^2+b^2)]=
=V(a^2+b^2) [cost*sinx+sint*cos x]=V(a^2+b^2) sin(x+t)

cos t=5/V74
sin t = 7/V74

arcsin(7/V74) = arccos(5/V74)


